P
A 4

SIRUI

SIRUI, Capturing Your Imagination!

INSTRUCTIONS
AT-125 Tripod

GUANGDONG SIRUI OPTICAL CO.,LTD.

Add: The Third Industrial District, Wuguishan Town, Zhongshan City,
Guangdong, China (Zip Code: 528458)
Tel: 86-760-88897373 Fax: 86-760-88207062
E-mail: info@sirui-photo.com Website: www.sirui.com

Descended
(mm/inch)
1235/48.6
Max Load
(kg/Ib)
10/22.0

Height w/ Column

(mm/inch)
120/4.7

Min Height

Weight
(kg/lb)
0.66/1.5

Min Tube Dia
(mm/inch)
13/0.5

(mm/inch)
354/13.9

Retracted Height

Max Tube Dia
(mm/inch)
25/1.0

(mm/inch)
1450/57 .1

AT-125 / &
Section
5
Max Height

Data Chart

1. Know the Tripod Fig.1 2. Leg Setup & Angle Adjustment Fig.2 3. Leg Extension & Retraction Fig.3
2. Hold the outer tube of the leg
3/8" -1/4" Mounting Screw with one hand and the rubber
As shown in figure: foot with the other. Twist the
Mounting ‘ Unlock The leg offers three optional ":Jbbe" fOOtti_T the (fiirelcftion t(_)f
c > nloc ositions: 21°, 52°, and 83°. "loosen" until you feel four times
Platform Button positl of vibrations, then you can start
Column - Short adjusting the length of the leg.
I(_:oclzlking d b Column Some of the sections may refuse
oflar i Section to extend if you fail to twist the
Spider Bubble rubber foot to the right position.
Semi-Auto Level If this is the case, try twisting the
Button Long tube again.
Column
Section Hold the
Leg ) 83° | outer tube
] L Extend and
retract
O 2
A\
As shown in figure: “§/ * L
Rubber i i X 52° Loosen
Foot If you want to open the leg in the direction of A, \ \(\\
press the semi-auto button and pull the leg up *Tighten / Hold the
to a specific position, then release the button a é1° rubber foot
nd the leg will automatically lock into place. 1. Pull the leg up 3.When the leg is extended to the desired position, turn the rubber foot in the
If you want to close the leg in the direction of B, direction of "tighten" until you feel the locking vibration.
simply fold the leg down to your desired position. After all three legs are locked into position, you can place the tripod on the
ground and gently press it down to make sure the legs are securely locked.
Attention:
1. Know the Tripod (As shown in the fig.1) ﬁ Do not exceed the recommended maximum load weight (please refer to
H H H H LL] L L] . .
4.1. Center Column Movement Fig.4.1 4.2. Short/Long Column Section Fig.4.2 5. Mounting Plate & 3/8" -1/ Fig.5 6. Accessory Port & Bubble Level  Fig.6 2. The legs offer three optional positions: W the manual).

*Tighten

*Loosen

Twist the column locking collar in the direction of
"loosen" to adjust the height of the column. Twist
the collar clockwise to lock the column in place.

—— Short Column

*Tighten Section

Long Column
Section

Twist the column in the direction of "loosen" to get

a short column section.

Combine the short and long columns together by
twisting the short column in the direction of "tighten".

Mounting Screw

The 3/8" -1/4" mounting screw is provided
for use with a wide variety of accessories.

M: Bubble Level
N: 1/4" Screw Hole

21°,52°, and 83° and can be folded up
or down.

3. Leg Extension & Retraction: Operate
according to the fig.3.

4. The column height is adjustable. The

column can be detached into two sections.

5. 3/8" -1/4" Mounting Screw.
6. Accessory Port & Bubble Level.

A

Please make sure that the locks are securely tightened when in use.For
added safety, please put your wrist through the wrist strap when using the
monopod.

This product should not be used in environments that exceed the
following conditions (-40 ~ +100°C/-40 ~ +212°F). And, when used in
damp, dirty or dusty environments, please clean and dry thoroughly after
use, to assure proper functioning in the future. It is not recommended to
expose this product to saltwater. If exposed, please clean with mild soap
and warm water and towel dry.

Please keep from high temperatures and direct exposure to bright
sunlight for extended periods of time.

Please do not leave the equipment alone in a public place, which can be
an inconvenience or hazard to others.

To protect your camera gear, please remove it from the tripod/ball head
when transporting from place to place.

Please use a soft towel with warm water and mild soap to clean the
locking system and gliding parts when necessary. Towel dry before
storing the monopod.

Under most situations, there is no need to lubricate any parts of this
product. The addition of most lubricants will gum up the mechanisms and
reduce their normal gliding characteristics. Please call or email us if you
have any questions or special needs.

Please keep this product away from all electrical power sources.




Instructions

SIRUI, Capturing your Imagination!

B-00 Series Ball Head

SIRUI WEBSITE

GUANGDONG SIRUIOPTICAL CO.,LTD.
Add: The Third Industrial District, Wuguishan Town, Zhongshan City,

Guangdong, China (Zip Code: 528458)

Tel: 86-760-88897373 Fax: 86-760-88207062
E-mail: info@sirui-photo.com Website: www.sirui.com

A A 4

A
SIRUI

Ve
7z/ot G¥'0/60C°0 92'¢/0L Sl'L/6Cc 900-9
zz/ot G¥'0/S0C°0 92°¢/0L SL'L/6C ¥00-9
zz/ot S¥°0/G0C°0 92°2/0L SL'L/6Z M00-9
qi/6x qI/6x youyww - youywiw

peo wnwixely  YBIBAA ybley  Jeyowelq
m a
* B 5 O
xXew v
& J

Mey) ejeq pesaH Jjeg saL3s 00-4

1. Know the Ball Head

Quick Release Clamp Safety Lock Pin

Quick Release
Plate Locking Knob

Main Body

Safety Lock Button

Support Ball
Main Locking Knob

Panning Base
Locking Knob

Panning Base

2. Attaching the Ball Head

3/8" Screw
3/8" Screw Hole

(1) Quick Release Plate

1/4" Screw
Plate

Anti-slip Mat

3. Know the Quick Release Plate and Quick Release Clamp

(2) Quick Release Clamp

Clamp Base

Locking Clamp

‘ \0 Security Button
J

Safety Lock Pin

Quick Release
Plate Locking Knob

Loosen

Fig. 3-2

4.Install and Remove the Quick
Release Plate

Fig. 4-2

Loosen
Loosen

Loosen

Tighten

Loosen Loosen

1. Know the Ball Head (Fig.1-1).
2. Attaching the Ball Head

D If the connecting screw on your tripod is 1/4", you may need to buy a 3/8" screw separately.
@ As Fig.2-1 and Fig.2-2, align the 3/8" screw hole at the bottom of the Ball Head base to the 3/8" screw on

the tripod, turn the ball head base clockwise until it's tight.

3. Know the Quick Release Clamp and Quick Release Plate (Fig.3-1).

4.Install and Remove the Quick Release Plate
(D Attaching the Camera onto the Quick Release Plate

Select a suitable Quick Release Plate according to the feature of your camera base. Do not remove the
camera from the Quick Release Plate frequently to avoid damage to the screw hole. (Note: If the Quick
Release Plate has to keep on the camera for long time, please use the included Allen Key to tighten it. )

(2 Attaching the Quick Release Plate

As Fig.4-1, loosen the Clamp Locking Knob by turning it counter-clockwise, push the Quick Release Plate
into the clamp from the side and lock the Clamp Locking Knob by turning clockwise. As Fig.4-2, you can also
loosen the Clamp Locking Knob completely by turning counter-clockwise to attach the Plate from the top, and

tighten the Clamp Locking Knob by turning clockwise.
(3 Safety Lock Pin

As Fig.4-3, the Quick Release Clamp has a Safety Lock Pin on top to prevent your Quick Release Plate and

camera from falling off when the Plate is loosened.
@ Removing the Quick Release Plate

As Fig. 4-4, loosen the Clamp Locking Knob, press the Security Button completely to get the Quick Release
Plate out. You can also loosen the Clamp Locking Knob to the fully open position and get the Quick Release

Plate out from the top.
5. Operation

(D Attach the Camera with Quick Release Plate onto the Ball Head.

(2 Move the Ball Head to the desired position and lock the Main Locking Knob (as Fig.5-1).

% Specifications of products may be changed without notice.

1IARRANTY CARD! INFORMATION

Dear SIRUI Customer,

Thank you for your purchase of SIRUI Professional Products!

SIRUl warrants that your purchase is free from defects in materials and
workmanship under normal use during the Limited Warranty Period. The
Warranty begins on the original date of purchase on your sales receipt
and is not transferrable. If service is required, a copy of the sales receipt
must be included with an explanation of the problem.

Product Warranty Length
Tripods / Monopods / Accessories
6 years
Humidity Control Cabinet (Cabinet)
Humidity Control Cabinet (Electronics) 3years
Model: - _ _ _ _ _ _ _ _ __ Date: = _ _ _ _ _______
Store: - _ _ _ _ _ _____ Serial Number:

Warranty coverage can differ from region to region.
Please see the contact information below for product registration,
information and service for the region the product was purchased in.

SIRUI 6 (six) Year Limited Warranty (3 Year Warranty for Electronic Parts).
This warranty shall be limited to repair, adjustment and/or replacement at
SIRUI or its authorized distributors option, of defective parts, free of charge
(except the cost of transportation to the distributor/service center).
Responsibility is limited to the actual cost of the item. Call or Email with
questions and service before sending any product to the center in your region.
Below is a listing of contact information for Product Registration, Service
Inquiries and Questions.SIRUI will not be responsible for expenses or
inconveniences, or consequential damages to equipment, or by breach of any
expressed or implied warranties.

Limitations:

Warranty is not transferable.

This warranty covers all defects encountered in normal use of the equipment

and does not apply in the following cases:

1. Ifthe equipment has been serviced by other than an authorized SIRUI
Service Center.

. Damage to the equipment is due to modification (including but not limited to,

the removal of ballhead clamps), overloading, mishandling, abuse, accident,

sand*, corrosives, water damage* or not following operating instructions.

No valid proof of purchase is provided.

Damage caused by acts of nature (including, but not limited to fires, floods or

earthquakes).

N

Hw

Warranty coverage can differ from region to region. Please see contact
information below for product registration,information and service for the
region the product was purchased in.

Warranty Address and Contact Information:
(Please contact the seller or the local distributor where the product was
purchased for warranty issues or questions and before any product is sent.)

1.Guangdong SIRUI Optical Co., Ltd.

The Third Industrial District, WuguishanTown, ZhongshanCity, Guangdong,
China

Tel:0086-760-88897373 Fax:0086-760-88207062
Http://www.sirui.com E-mail: info@sirui-photo.com

Service Hotline: 0086-400 830 2299

Complaint Hotline: +86-181 6563 9388

(Monday to Friday: 8:15am~12:15pm, 14:00pm~18:00pm)

2.SIRUIUSA, LLC

Add: 29 Commerce Court Verona, NJ 07044

www.sirui.com

Service: Toll Free 866-373-0829  E-mail: info@sirui.com

FOR PRODUCTS PURCHASED IN THE USAPLEASE SEE:

For full details on USA Warranty Terms and Limitations:
https://www.siruiusa.com/warranty.html

To register products: https://www.siruiusa.com/product-registration.htmil

3. European Service Center
Add: SIRUI Optical GmbH « Ernst-Augustin-Str.1a « 12489 Berlin «+ Germany
Phone:+49 3099194 94 00 + Email: Info@siruioptical.eu




—— 1. IARFE S =1 2. ZHIERF BEIRT =2 3. LRI e =3
SIRUI

1/4°#13/8” BIER8 L4 2. —FEHXEMIINE, 5—

FIREME, RER W85

EMED BT

| nE: et L s 4R
i = i SRR =B, B—HL, P, SIEREN PRI,
—alieAo 5 — kg0 BIEATF, BT LU TR S R
—— BTRE52°, ETAYS3C, Jponp
. 2 “aR1F,
ﬁ m 1H HH b RIBE ERMEERERIETREE
#thk o, EAEERE Y MEHREE

B, T BERITEIME, BEI5E
ES 2RI

KR

AT-125 =52 el

KA

SEM
B -
™ i \{Eﬁéﬁ
W&\
e W0E: \v\@ N
UEEAR R IR, TR ER o\ B i i
BAKISMEFRBL(L, MR, R ™ & = E T EEmE
BN ERR A AR REAS ALY ; e B
B R IR YURBREIE BN AT RIE, HiE 1 BAME 3. YWEREIIFRLEN, RET R K75
Wit U B = T #0145 528456 BrAiR a2 BV AR AT =], RS Frah, RS R NI, VT S RME
i 0760-88807373 fEIL: 0760-88207062 4574 400 830 2209 %50, _S'Zﬂfﬂf.!ﬁfﬁmﬁﬁm%?%f’ﬂﬁ, AIUEHE R
gifégot?::reusl;ggggcom PI3k: www.sirui.com E, BEMESZEEFER,
(XPRI{ER 8:15~12:15,14:00~18:00)
| L. iR & GIELFR) ; p= = Uik
e | F N =] B N Ax [%] NP ” E » %] Y 7 2] — g — 2 o ° °
Elg ﬁg =) | 4.1. EPEHHE’]J:T{EFQ{’E E4.1 4.2, %EI:PEE S'IKI:PEEEIJ*FFZ? 4.2 5. = 1/4 %3/8 E%ﬁ &5 6. M'Hq:ig?L*Wk:FHE 6 2. :Hiﬂ?ﬁ‘%ﬂlﬂ:ﬁ’ﬁf;, SHE21°.52° * REBT R ANEE RS (B2 E/N =25 H) :
- 1 83°, XM BHWE, ha] RIFKLN; I S, B R S S
il ge & | . LIS 53 BUBEETAN, 3. SRS IRER A @A A\ HERT SN, WRASAR SRS,
| o =] rTLE A Y N —
. 1 e % Ameibalr. 1 548, AT TR BB LR B o AR T
- | s N '} SR i ARLRNIE TERE, EiRE TS
= LE B | 4. &mlﬁﬁ)_ﬂ, FREAET AR IR EE, H AT iR FF R E S, RN B KD,
. o ; SRR i o .
¥ 3 | T ST B a3/ iE . e DB BB B ARE T R R R R,
< 5 8 | 5. PRBUAIBMBMLY/AM/E R W g imme s EWSRRE;
. | 6. P IRFLAIK T2k (BNEIFA7R) o
,< ge 8 ! RS ER, NERE AR T, V)78 T
B < : GE M5 BEMARTE;
" |
€ %8 | YN REESRR, 654 (N MR 6,
52) %E e 5 BRRMEETRERRENES, LRI M
= ! B Sl Ko SE sh BB (B R
H |
w Dl | § BIETE LSS T REBTIT A, NS
! REN, BEAEEEHEUhE;
£ \\
g frod |
B ow w
ﬁK;Q | LT ISR AT, ATRER 075 MRIKFER, NR1/4” F8FLo j NEESRLER, YK R ER R IR,
= 9 : IR R
e - ! PSSR EIS AT IR TA "R |, SRalET LA HEESKIPMASERN, RER K HA5R
I ke ! L | AREESBEEIR L. BT KRR,




P
A 4
S 10)

FARREL BT

fEFAEA

B-00Z7%

Kr=a

SIRUI XX E R

I RBHAZRBARAT

ik HERERLTERELIE=TIX # 4 1 528458
#11E: 0760-88897373 {£11: 0760-88207062 AR5 #Lk: 400 830 2299
HB#E: info @sirui-photo.com RI3E: www.sirui.com
$RIFFBIE : 18165639388

(RPRIAER 8:15~12:15,14:00~18:00)

( )

0T §0cC0 0L 6¢ 400-9
(1 G020 0L 6¢ d00-9
0T §0C'0 0L 6C 00-9
63 6 ww ww

BUxYE BEEH = 2E
U PAN
* B 5 O
xXew v

J
%¥s$SZ(4%00-9

1.3A

L
[=]

o]
M

AY

TREEAR SR B
RECTIRE
K

RIS

RERBEIEH

3INRIREAR AR AR e B

(1)tR&EAR (2) IR ¥R e

1/4"48 4

R

RS e Wl Rt
[EREE \%Fﬁm%&ﬁﬁﬂ
E1-1 "
E3-1 E3-2
1. 3N87 & (ANEL-1F7R) o
bt s 2. RERE:
4. RERP L LEHFE OIMBEH=HIZE ERUNCL/AEEB L, BALEE RSN E—FUNC3/S" BT,
QIMER-1. E2-2FF 5, {5 ARSI UNC3/S" 47 3 M L HIUNC3/8" 84, A IRBYH HEst = 8 RS
FEEGE L,

3.NIRIRE R S EEFNIREE R (S0EI3-1FA7R)

4 REER AR EIRED:

OEIEE

IRIB AN MR RS =, 1B A & BRI IREER, BN BE B M LR EREER, LU RIRIFAEN A RREIB 24,
CE: BREIR KR EEAAN LY, BF i EEBE RS REEN A BIRF R ZEIA,)

QRENIER

NE4-1F7R, I RS BE T H 75 AT, SRS HEIREE AR M T2 R A9 B #E N IR B £ e 42 S R 53 X e Hlo 1
A BUMIE B £ 75 [ 18 e 5 S B FH B AL B /S, W0E4-2FR, MF& £ ENG, BIRBTH e SR B & i
ORERRIEBNA

NE4-3FRTR, IREEAR T EEX REEAR A RBEFRAIIER, B LEA/ VAR TT S EE S R e S BUR SR B IME R,
BRIRAEH.

@HREEIRAYIFED

MNE4-AFRTR, T E L BERIERERBINEARIOR, Y EEIREMRERT, SAL T S S e, RERT
RIGFEH ZE R BN AT 75 fE R BR Y IREEAR ot T ARAFF B R BESA B —E (L B, TREERM £ 5 BN

5. BAIg(E:

OER A L RECEFIRERBN, 7B FHREEN.

QEZENESERENER TRIKAZEEENINRMUE, A S e GNES-1FR) o

x BRABRREF RARME T~ RARMEESFSEEIF], B UENE, B8R BITE.
ENRY & _EINB ENRISHRSIAE 75 ERY SR MIS AT E, BUFEH.

REE
——
BHNTE:
IR BB & | FE E R A AR, INRE R4S
WK TEHIRRINE, BHERIRERRORIERS.
ERBRERSH, FRESREFAWTEI WERLE,

MEBREE), BHAFEGERSHE 400 830 2299
AR RISHARR
[
A 6%
[DapilizRiNEN
BT 3%
FREs WEHE:
\mEEm AEeiE
[
\mE=E
[RE A
1. B, EZ6EREFRE (BT H3E) , (RIERTE
MEZ HEEE,

2. FrRIEF= &, R B E TN R SR F S A,
3. RHPEFRIBH LI 4267, 15Tk T B HARSS FBIE, A
HIESG, BH QB AEREIEE, —RIESIERIET N TIERR
SERAHEH ),

4. BrEERYRIE B R RE R ERIEBIED 1, 1B A AEN T
BIRERET B B LI B RN RIAART SR EANB
BEARS AL,

5. U MERFERETER:

O B RIEHAIRAY;

@ IR HRERBRNEHH LRI IR ;

@ FEAREBHINNRERREE R OEBITR;

@ BT FIELERE BIMTEL BARE SBERESIRG,
K RRERIARETE AL

HEFIER

RP#E
PR i

A stusk

HB 4R

B A

HEARER
HEEATE]




